[image: image1.png]The energy levels for the helium ion He™ are given by a formula similar to that for the hydrogen atom:
E,=-8.7x10"8 /n® T and the radii of the stationary electron orbits are at r, = 2.65 x 10" n®
(a) ‘What is the difference between an He" ion and a helium atom?
(b) Calculate the radii of the n=2 and n=3 orbits of He" and show the ground state (n = 1) and
these two orbits on a scale diagram.
(c) Calculate the energy of the n=2 and the n=3 electron levels of He"
(d) Calculate the wavelengths of the n=2 to n=1 and the n=3 to n=1 transitions of the He" ion.




